
SAP ABAP table COSBD6 {CO Object: Total of variances/accruals, of which settled}

COSBD6

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

KSTAR [CHAR (10)]

PAROB [CHAR (22)]

TWAER [CUKY (5)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]
 COSBD6-KSTAR = CSKA-KSTAR 0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 COSBD6-OBJNR = ONR00-OBJNR 
0..N

0..N  COSBD6-PAROB = ONR00-OBJNR 0..N
0..N

T000

MANDT [CLNT (3)]

 COSBD6-MANDT = T000-MANDT 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 COSBD6-TWAER = TCURC-WAERS 

0..N

0..N


